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Practice Paper 2006-2007

Please read this information before the examination starts.

This examination is 60 minutes long.

All questions should be attempted.'

A row of dots .......... denotes a space for your answer.

A completely correct answer may receive no marks unless you show all your
working.

Answers given as fractions should be reduced to their lowest terms.




1. Calculate

(i) the sum of 23.5 and 12.72 '

Answer
(iiiy 73.5 x 0.03

Answer
(iv) 73.5 + 0.03

Answer:

S.A. 2836126 : 2

-----------------------------------
---------

-----------------------------------------------

................................................

----------------------------------

e




©

2. (a) (i) Write 52% as a fraction in its lowest terms.

CANSWETL (vvidessriimacisssanassnsesssnssssasiessons {2)

_(ii) Of the 125 passengers on an aeroplane, 52% are men.
How many men are on the aeroplane? '

Ly T s | . {2)

(b) Write 3 as a decimal.

ATISWER: ovvoeesseessieeeeeseseseseensssaeneaasenss . (1)

3. (i) % of the chocolates in a box contain nuts.

If 15 chocolates contain nuts, how many chocolates are there
in the box? T ,

ANSWET: eirireinrrnasisssesssane s ssesanssanes (2)

(i) A recipe for 24 biscuits requires 360 grams of flour. (‘_
How many kilograms of flour will I need for 90 biscuits? §

ANSWET: rvvrrereeeeeresssssansessssssasrsnnanens kg (2)
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' - one significant figure,
4. By rewriting each number in this calculation correct to one sig gu
estimate the value of:

37.28 x 31.11
-5.95
ANSWET: .ecvrerensanamsesrsssnsnessarssas: cereeesenneas (2)
5. (a) Work out the following:
(i) 123 x 16
AFBWET ssswnnmmssanasunioiis A B 5 e (2)
(i) 156 -6+ 3 —1
ANSWET: ooieeiseeteee e (2

(b) Calculate the value of 364 x 52

..........
......
------------------------------
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(i) a® — 4bc

. atc+1
jiily ———
(i) b+

S.A. 2836126

"3 ¢=5 findthé value of

ANSWEI: ooiivecrsunnrenermsnssnrenies (1)
T TANISWEL: -vopeningrinisssssmssassnas (2)
ANSWE: ..vvveveee RO - B
Turn over




7. (@) Write down the next term in each of the following sequences.

() 1,8, 27, 64, .....

BIISWET: vvamnraorimssississsssrions (1)

) 5, "4,1,73,72, 75, ...

BNSWETE swssusssspossonsemsmmens (2

(b) The nth term of a sequence, t,, is defined by the formula t, = n® + n

(i) What is the 5th term, t,, of this sequence?

Answer: t; = v . (1)

(i) What is the value of nwhen t, = 110?

ANSWEN 122 Liiciieneenenns | @)

8. Edward, Fabian, Guy and Harriet go to the shops to bljy some marbles.
Edward buys 20 marbles and Fabian buys 5 more than Edward.

| (i) Write the ratio of the number of marbles bought by Edward and by Fabian
in its lowest terms. ’ o

CANSWEL: ccvreererienne " vverreesaanns | (1)

N A NAOANANsAan Py



R e

Guy buys twice as many marbles as Edwerd, and Hardet buys 10 more
marbles than Fabian. ‘ :

(i) Cofnplete this table, showing the numser of martles bought by each child,
and the total number of marbles. -

- name | number of martles bought |
Edward 20
Fabian
Guy -
Harriet
. total
( &
-O ()
(iiiy Represent this information on a fully-labelled pie chart, showing all the
angles. ‘
(3)
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9. (i) The heights of five children are:
130cm  1.25m 1im 12m 1m 35cm

| (a) Convertthese héights to centimetres, and write tlhem,in order, sﬁan:ng
with the smallest.

Answer: ........... CIM, v G, vovevenisis CM, wevviareess G ceinsranes cm  (2)
'(b) What is the range of these heights?
ANSWEL cieeiisennesesssssssibnsansssssasssnnaes cm (1)
(c) What is the median height?
ANSWET: +veveeerereseiseeseeseo, ieoreeeeen €M (1)
(d) What is the mean height?
ANSWEL < oeiiieinieeeceees e eeeeeeees o cm  (2)

(ii) Anather child joins the group and the mean height changes to 1.36 m.
What is the height, in metres, of the child who joins the group?

ANSWEL Lo m (2}
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10. Joe has two fair 4-sided dice.
One has the numbers 1, 2, 3 and 4 on its faces.
The other has the numbers 5, 6, 7 and 8 on its faces.
Joe throws the two dice and finds the product of their scores.

(i) Complete the table below, showing all the possible products. (2)
2nd die
x| 5|6 |7 |8
: 1 -?
istdie | 2 12
{ 5 o] |
4 | 20 )

(i) Which product is the most likely to occur?

ANSWEL .oviecesenssasansas (1)

(i) What is the probability that the product will be

(a) even

Answer:




11. Forthis question,usew =3 | . -
Aunty Alice’s Artichoke Soup is sold in cylindrical tins. Each tin has a base
radius of 3 cm and a height of 12 cm. _ |

) Work out the volume of soup inafulltin. not to Sdale
| 3cm

12Qm

ANSWEr: .......... eSS —— cm?®  (2)

Bert, who loves Aunty Alice’s Artichoke Soup,.has two full tins for dinner. He'
pours both tins of soup into a cylindrical bow! of radius 6 cm. : .

(i) What is the depth of soup in the bow!?
. not to scale

ANSWEL: weovervririrreevnnnsnne (RO cm - (3)

Chris does not like cylinders and prefers cuboids. He decides that a full tin
should be packaged into a square-based carton of height 9 cm. '

(iii) What are the dimensions of the base of his carton?

not to scale
: |CE 9cm
AUNTYM | {
ANSWET: ...cvvue.., CM bBY .o, cm (3)
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12. Calculate the size of each of the angles marked a, b and c,

not to
scale
[+
ANSWEDR @ 5 cvvrermiisinsssmansisassmarsnssesyy . (2)
o
ANSWET D = orvirecivnrnnnsemmisissesssnannanns (2)
Q

ATBWELY €/ amresssssinss ivsvasesssssvupaopsosssens (1)
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13. Tho Bloggs family go on a skiing holiday to Val Steepo, where the currengy is
tho smaka. They discover that a £10 note is worth 7 smakas. ‘

(1) Using this information, calcutate how much £200 is worth in smakas.

ANSWEL weerrnissirersscee SOR—) smakas (1)

T ‘ T : by
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(i) On the grid, complete the scales and draw a graph to convert pounds to
smakas for sums up to £300 (2)

(i) Use your graph to answer the followihg question, showing clearly where
you take your reading.

A pair of ski boots costs 200 smakas. How much is this in pounds (£)?

------
R LR L LR Nedanserannaeanye LR

' Answerﬁ £ @)
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14. (a) Construct isoscelos tiangle  ABC  sueh

= {2 :
AC = BC = 7 cm, Tho po that AB=12cm, and

sition of A s drawn for you.

+ X
A | f o ®
(b) Aright-angled triangle DEFis as shown. - notto -
o F \ scale
(i) Calculate the distance DE. I \
15cm
gcm
L
D E
ANSWET corevniennssssssssisenn cm (3)
(i) Calculate the area of triangle DEFR
ANSWET «.crasresssmmmmsenss C° (1)

(iii) Hence calculate the perpendicular distance from Dto EF.

ANSWETT civeevisianneisniansas cm (3)
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15. - (i) On the centimetre square grid below, piot the points (1, 1), (4, 1) and (2, 3)-

Join the points and label the triangle A. | . (1)
Ky ]
6 —
5| L
4 —
3
‘g
1 o
-5-4-3-2-1012345678910%'
| |
-2
-3
4
—"5
(i) Draw and label the line y = "X ' | . (1)
(iti) Héﬂect triangle A in the line y = “x and label the image B. ' o 1)
(iv) Rotate triangle A through 90° anticlockwise about the origin and Iabellthe . @
image C. ‘ 2)
(v) Describe fully the single transformation that maps triangle B on to
triangle C. :
T S S -(2)
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16. (i) Giving your answers as fractions in thei
actl.ons in their lowest terms, work out the value of:

@ $x3
Answer.
b) $xExIxd
Answer:
@ (efred)2)+3)
 Answer:
(ii) Work out the value of each of these series of products.
(a) (1+%)(1+%)(1+%)(1+%) ...... (1+$)'
Answer:
©) (= D)(1-3)t-5)t=2s)l ~ %)
Answer:

(Total marks: 100)
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